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Je 2015E = 1/427) 20144 = =7hoH
0|3 A AE 9,417 12,135 -2,718
M =Its =88Rt 193,051 184,734 8,317
SR 149 162 -13
SYR 151 151 0
7| EFRFAH 167,845 144,849 22,996
XS 370,613 342,031 28,583
M= 131,241 134,666 -3,425
7| EFSXH 118,564 95,114 23,449
ol 249,805 229,781 20,024
=3 57,936 57,936 0
Z|EtEEE o= A A 4,984 2,248 2,736
ol9doi= 57,889 52,066 5,822
A5 120,808 112,250 8,558
ERIQIRHEE 370,613 342,031 28,583
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A== 76,588 83,512 -6,924
AHH| & 69,393 70,417 -1,024
Aol 7,195 13,095 -5,900
Ao+ 0 0 0
deeH g 0 0 0
HOINX AT =0]Y 7,195 13,095 -5,900
HOINHIE 1,373 2,846 -1,473
271%=01Y 5,822 10,249 -4.427
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(CH9l: HRkel, %, %P)
T2 2015HE e 1/487| 2014HEE 1/42 7| =ZtoH
HEAH A S| Ol (A) 22,230 22,256 -26
AR HZ(B) 33,509 39,384 -5,875
235l €(A/B) 66.34% 56.51% 9.83%
2. ArHH| 2
At 2ol =trfof whE L[| 7} 491 75}
2320 Aut2HET 21Y ZASIAS
(EHS: DRI, %, %P)
T2 2015HE E 1/487| 2014HE 1/482 7| Z=Z+oH
=AM H|(A) 5423 4,945 478
HOHHZ(B) 32,845 34,566 -1,721
AFH|2(A/B) 16.51% 14.31% 2.20%
3. 28xtMo|Yg
H7| JYURE S 15299 I ©7| £0/20| KA £XF SH2 ZI LBAMO| BIBAS
(CH9l: Bkel, %, %P)
T2 2015HE e 1/4827| 2014HE 1/42 7] =Z+oH
EX A EA) 4,549 3,763 786
Jat2 2 XHAHB) 172,503 142,519 29,985
28 X}AH0|AE(A/B) 2.64% 2.64% 0.00%
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T2 2015HE - 1/48 7| 2014H & 1/48 7| =740l
ROA (Return on Assets) 6.54% 12.55% -6.01%
ROE (Return on Equity) 19.99% 63.01% -43.02%

* LHEA ROA = S7|&0|YAHAA A =2 SR+ 2712 SAHD/2) * 4/B 02 7]5)
“ AhEA ROE = 7|20 AAHE AR =Y X7\ A2+ 272 AH2|RH2)/2) * (4/B 32 7| 5)
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LEIESO| EHTA QHUO| 21 Y A U FHFHN 8 Y UAR Qo EHHAYO| AT
(B |, %)
T& 2E7) 2E7-187] SE7|-2&87|
X2 2H|=(A/B) (0.00) 229.18 202.83
X2qEHaA(A) 0 1,166 1,095
XNaq87| =3 4(B) 484 509 540
H2Eo|& ol 452 472 514
S A 0 0 0
MEAHNY 23 22 14
AE2 A 0 16 13
2 26 26 25
3) %|2 370 AIAAE SOt Toll X|Ee| F2 HERQ
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SYY0| LMo ls) XIFOIHHIBS S AIBLIC

EDH FY 2013 B SMEHZO| BILE Qo BYYAO| Z7+2 Qs RBC H|E0| o}t ELIC
olof & X|HE2 20144 & F7+ FYU7|Z 1539 LS 2 RBC H| &2 TAAIZISLICL
Iv. 7|E} 3 g 8 g
1 752 XL
ME7| ofH| 0|g4At O|=32| ZIt2 Qlel JtE 2 AXt0] Z7t8tR 0, HEItsTH 5809 S7HE X
CHRl: SOk, %, %P)
T&= 2015HE 1/487| HES7| sS4
ZIEEAIRFAHA) 1,301 755 546
RHALAR AL 22 AMKFAL (B) 273,003 227,946 45,057
H|S (A/B) 0.48% 0.33% 0.15%
2. -SRI
7| iH| T2 - XA 589 2SO, ETtsTd 5809 78IRS
CHRl: W OERL, %, %P)
T& 2015 = 1/427] HAS7| SHA
SIFIS KA (A) 65,368 77,421 -12,053
XA (B) 285,139 241,998 43,140
H|2 (A/B) 22.93% 31.99% -9.07%

4 509 RBC H|&2 FY 2012 (228.57%), FY 2013 (200.79%), FY 2014(229.18%) &, FY 2012 & F7} 7|2 186
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1 FAEl =
(EHS:H4THR))
ot =2 2015 1748 7] 2014H =
Xt A
L33 A ox3 9,417 12,135
1. S YUS I A XpA 9,417 12,135
L 0{=7tsF At 193,051 184,734
L =X 2 S KA 53,489 55,155
IV. 7|EFRFAH 114,656 90,006
1 230|432 111,693 88,409
2. 7|EbF A 1,933 1,285
3. 9 X}pAH 149 162
4. S RpAF 151 151
R EE 730 0
6. 7| EFRFAH 0 1
I &4 F A 370,613 342,031
& i
L MRIFHIF 131,241 134,666
1. X|Z&EHZ 94,030 96,132
2. 0|ZNEEgNEZ 37,211 38,534
1. 7| ERE XY 118,564 95,114
1 BH0[X|g5 102,453 80,983
2. 7|El0|X| g5 9,354 8,399
3. O| H H QIN| £ XH 5,887 4,854
4. E| |2 0] x| 840 848
5 5SS EEXY 30 30
2 A A | 249,805 229,781
Xt =
L Xea 57,936 57,936
L X|HXES 57,936 57,936
L 7|EpEE a0l = 74 ol 4,984 2,248
1 =7l =AHEI}0|2 5,050 2,313
2. 7|Et -66 -66
IL 0| of= 57,889 52,066
1. 0jdEo0|dyola 57,889 52,066
I 2 F A 120,808 112,250
2O % X 2= A 370,613 342,031
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3. om¢c4 1,238
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6. Q3}&tArO| 2 766
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8. 7|Eto|F e+ 0
I gYH| 2 70,417

1. R QIZ=H| 2 QloH -1,759

2. 53gH| & 36,602
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4. EXFAHIE 16
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6. Q|Bhkp 97
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8. XA ZHH| 0
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IV. g@ge|4=ol 0

1 FYIEo|Y 0
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2. 01043| KEA AEI 0
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VIIL &47|20|2 10,249
IX. 7|EtzZ 2&9 24
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